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Obvious implementation
Tr'\a ngulation
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TRANSFORMATION

{} == nil

nil => constant

constant => constant+
constant => scalar
statement => statements
unconditional => conditional
scalar => array

array => container
statement => recursion
conditional => loop
recursion => tail recursion
expression => function
variable => mutation
switch case
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ust be green * Object Cali

e Refacto greS_SiVE|y and . Only one level of indentation per method
consta ntly . Don’t use the ELSE keyword
= . Wrap all primitives and strings
° Ru\|e of three . First class collections (wrap all collections)

. Only one dot per line 4e Body-—Tatl-Hag => dog.ExpressHappiness ()
. No abbreviations

. Keep all entities small
[10 files per package, 50 lines per class, 5 lines per method, 2 arguments per method]

. No classes with more than two instance variables
. No public getters/setters/properties
10.All classes must have state
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* Driver

Navigator
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* Navigator navigates -
- Don't discuss too early
ob brings in ideas
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